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I ##### TESTE SI UN VAINQUEUR ####

LBL A

INV $TF 1
INV $TF 2

STO 99 E

9STD 99 E

TO99 E'

LBL 5TA
7 STD 92
LBL AVR

RCL

91*10=+RCL 92 =STO 05

RC* D5 INT X/ITOEQ YX

A C

LBL X

DSz
DSz
RTN

92 AVR
91 STA

Il ##Hgi# TEST SI 4 TROUVES OU PAS ####H

LBL
RCL
RTN

[ #11
LBL
RCL
1EQ

] #t
STF
RTN

[ #11
LBL
STF
RTN

[ #11
LBL
0ST
LBL
RCL
IFF 7
RC*
OP 2
RCL
RCL
GTO
LBL
INV §

Puis

~

08 X/T 4 EQ LNX

Hi#t 4 TROUVES ##H#H#
LNX

06 X/T

DEG

i TI GAGNE ####H#
P

H# JOUEUR GAGNE #####
DEG
1

Hi#t CHERCHE S| 4 ALIGNES ##H#H##
§

D 08

[ 0G

05 B'

CcOoS

D5 INT X/T RCL 06 INV EQ COS
8
08 X/T 4 EQ LNX
99 SUM 05

LOG

COS

STF 7
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RTN

[ #11
LBL

/10
RCL
6 IN\
0 EQ
RCL
0 EQ
8 EQ
RTN
LBL

STF

RTN

tH# CASE VALIDE ? #####
3

= STO O3 INVINT*10=STO 04
03 INT X/T

GE X2

X2

04 X/T

X2

X2

X2
7
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LABELS Adr Brangh. Reg. Instr.
001 1A A" 07416 A 03| 15842 STO
033 10 E' AVR 078 9Y DSz 168 43 RCL
044 19 D' B' 11917 B
049 /8 STA C 07518C 04| 166 42 STO
054 /9 AVR COS 12087 IFF 179 43 RCL
077 45 YX COS 13067 EQ
086 18 C' D' 03719 D 05| 06542 STO
095 P3 LNX D' 04119 D 067 73 RC*
106 60 DEG DEG 10Q 67 EQ 117 43 RCL
111 16 A E' 01210FE 123 73 RC*
116 28 LOG E' 016 1D FE 142 44 SUM
147 B9 COS E' 02110 FE
153 17 B' E' 02610 F 06| 03542 STO
190 B3 X2 E' 030 10|E' 03942 STO
LNX_ 091 67 EQ 096 43 RCL
LNX 138 67 EQ 127 43 RCL
LOG 14461 GTO
STA 08197 DSz 08| 087 43 RCL
X2 17477 GE 11342 STO
X2 17767 EQ 134 43 RCL
X2 18367 EQ
X2 186 67 EQ 91| 046 42 STO
YX 07267 EQ 055 43 RCL
92| 05142 STO
062 43 RCL
99| 01042 STO
014 42 STO
01942 STO
024 42 STO
028 42 STO
140 43 RCL
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